e Owrhing Lofh huetins 1/#ie @
Ce-u\{;os%m od  Thuasc

7A7( CEMPSH“"O/\ c\rﬁ 00 -QWC'A'MS/ % avd %z

@N{oc

"t C_QMFD%;“{DA ap f/ 29 yh

{”}(X) N g/(g(X))

IS

q- {0=x12 26) =32

*/K{néy dbow{' ¥=’8(K/ aS ‘7%{ -{;,\C;!-‘M
mu"hpki E\/ 5, Fher add 2"
{(g@ ;”(3 s)=£05)= |52 = IZ.

7IDUL Could also %f\lﬁ D S ad % 74"‘5‘[10/\
4G0) = 7(3x) = 3x+2



63-3 @ |

9] = g0u2)- S(ei2) = 346
Lohich 1S He Semt &S He acnm[im
“seld 2, fhon malfiply by 3 der bl
@ worm'ng'- ifmul{o/\ COM})@S(‘HN\ 'S @
n g/év‘uql/'%:/ S e Soy W//y)
) {37 3¢
12%;_: {/x)fxzj j(X/ = XF|
Log )= ﬂg()d):{(xm = (ett) "= X1 2t
4040 = g{6d)= 661 = xH
floe alo o017 fog&-
‘Tﬁi Com FOS;‘{:\(/\ INUerSc o]p 2% 'Lflc:hahf -
T o fochm £ has dowain 71 and g B, fho

fe  inve=C ){mc;l{m (\( it exzs(s) s Fhe 7{;@110,\ f‘l (#7,}
with domain B Gncl range A =uch +

Sof 6=x ad ff8=X,




Dovoio of Ry of
Rty S

é’%,-" f&):x* 2{‘ ’l?acs f }’Iat)(’. an ffluef“Se,dno/l(][)

. 17 e
§O) U)L\O‘]L = l+ ' 66/%))
Powoic (%) =K, ?‘""‘%({) =R X

{ W= x-2
Chach f“{&) N %ﬁl({(x)) - f"(x+z) = (o2)-2 =X.
(160 2460)- {2l bz



€g." f/x) = 2x+ 7 - & g jotese ] ®

Sart et by seftng |
¥ = Bt T
Solue 1& N fems bF\/ Sublract 7 fum

Loty sides:

y-7 2 Q (huch:
Divde bth sds by 30| L4 <{(%)
% = X g5(x—?) +¥
= X f+#F =X
£1)= x=F-p) T 91 (3+7)
S | = (3xt7)- l
Vl = ﬁzsix
/\‘A N 2ok s

lps o1 inwerse 1S

ei;»w«[ew? o éklﬁ

- — > X
\(\TZ{'R.QI’ -ﬁr N\ Ja
/ o g o = et o eube
Sucl'\ oot
yb =7(x) "




F ()(): x%: L= Hore @ 7[u,nc7l1m f~é<} @ |
’g’ { 5«le7 \wlo*\' 7{ iS ~H\( IS

of 47 Te
f1f6 =%, ff )=

)=V
g)c X HMMF \H‘J& S

foql = () = Ux)"=x . st e %ﬁ
i ) x* on
30{6{) ) 36%) - t/xf’ =X {;2\( line.... w/,7

//W L ol i lere ... w0e need
"j);.v\qm(f) %n?e(?) am(j) %n?e(’f)

53

\ 4 .

¢ ‘
(4,40 ) \ - s 2
i O I

: i




T we
estict e
I is the mutse OE[ b:&;{'\ y fﬁ) e
N s Hoaction. )% @
X ‘
ye 3

A=

Gt
. or\&%\%’a\ Liae les
:&r"‘féﬂ\ ab st o&, + gy -
n AN Se Tw( Foiat o Yhe e
\/0{' {ﬁaﬁ' m'g 0‘&2{7 % J()imé\‘fp 70/ % ?%37;3
s l o['owlo' }f e as
1 N jAers




T poses Problems %f fonctions Mdélun\néz even
Powers (Fé/yﬂw‘d’s >/ baf et ]@’ ackd Powers.
é‘&x {/,(/72%-” ; Id s iavese
7:2)<3+| e lue ﬁr X in terms o][ Y, c/w
::>7-*( ‘ZX3
= ){_%’ = xg

=> 31:_1_ = X.
z
77(x) =3 %L
by {lg= X1

}/:’: xX“+|
= y = = x*
:;vij’}',: =¥X. C//no% dtjaﬂc#b/\
Cq - = 2 L e iavex
y= 2% 2> ylez) = 3
= yxt 2y 3X
=7 zg = X "YX = X(?fg)

_ : X
=72 -, L=

@



ARy
/ﬁ {6() — aX} wth S f"&) ,7 Daes : ?l xSl @ .
} el

N
(o,1)
> X

/%«(X):%—/&)q.
chllecl ‘H\L lgjqar:‘H\m ogi‘l—p\ hase &

:/:/; ‘,’Fc\r‘\‘i W lQF

{l go{(x) _ ?ﬂ*l(a)():/éga (&) =K.

) =y
74760 = £ (bgax) = o T = X
ooty
S e_f«aioolen'P To .
i 7 &y "o ool Peower ch we rouse 2
o /%3(27) o fo gt 27277

- (5%)-3
Z?S 35-3:‘33/ So /433[7,2) /%3



